THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

MEETING OF THE BOARD OF EDUCATION NOVEMBER 13, 2012

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on November 13, 2012 at 6:00 pm.

Members present: Jeffrey Kerman, President as of 6:20 pm

Jonathan Kornreich, Vice President

Deanna Bavlnka, Trustee William F. Connors Jr., Trustee Inger Germano, Trustee as of 6:05 p.m. Susanne A. Mendelson, Trustee

Members absent: Irene Gische, Trustee

Also present: Cheryl Pedisich, Superintendent

Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

Yaela Collins, Student Representative to the Board

Visitors

CALL TO ORDER Mr. Kornreich called the meeting open at 6:00 pm.

MOVE INTO EXECUTIVE SESSION Motion was made by Ms. Mendelson, seconded by Mr. Connors, and carried by a 5-0-0 vote to move into Executive Session at 6:01 pm in accordance with Open Meeting Law §105 to discuss the employment history of a particular persons, personnel matters, and to seek legal advice from the Poord' attempty.

the Board' attorney.

RECONVENE INTO PUBLIC SESSION Dr. Kerman reconvened the Board into public session at 7:50 pm and Yaela Collins led the

pledge of allegiance.

CHANGES IN THE MEETING AGENDA Revised Item E, Addendum Item I, Addendum Personnel Schedule A.8, Replacement Pages –

Instructional Personnel Cover Page, Schedule A.7

STUDENT AND

STAFF

RECOGNITION

The Board recognized music students who participated in the NYSSMA Young Composers program. The Board also recognized Mr. Deutsch for the work he has done with the music students.

Dr. Kerman thanked the staff of M&O and Transportation, as well as Mrs. Pedisich, for their hard work during Superstorm Sandy.

PUBLIC PARTICIPATION

Vincent Vizzo, Betsy Knox, and Pam Gallo thanked Cheryl Pedisich and the Board of Education for their leadership and sound decision making during the recent storms. They thanked Mrs. Pedisich for her efforts in communicating with the staff and keeping the community well

informed during the storms.

Mrs. Pedisich thanked the staff and community members for their contributions during the storms.

Diane Fitzgerald thanked the Board and Mrs. Pedisich for taking comments from parents regarding coaching assignments.

MINUTES AND BIDS Be it RESOLVED that the Board of Education accept the minutes of August 28, September 11, and October 9, 2012 as presented.

On motion by Mr. Connors, seconded by Ms. Mendelson, and carried by a 5-0-1 vote, with Dr. Kerman abstaining, the Board approved the resolution as presented.

REPORTS Dr. Kerman noted that a decision has not yet been made regarding changes to the school

calendar as a result of the storms, and that the Board was waiting to see if any recommendations are made by Commissioner of Education. Mrs. Pedisich noted that no changes would be made to the Thanksgiving or Winter Recess.

Minutes of November 13, 2012

Student Representative Report Ms. Collins reported on various upcoming events at Ward Melville High School, encouraging members of the community and staff to attend. She noted that several events had to be cancelled due to the storms, but many fund drives are taking place to benefit victims of the storms.

ITEMS FOR BOARD DISCUSSION Be it RESOLVED that the Board of Education review and discuss for finalization the Board of Education Goals for the 2012-2013 academic year.

Board of Education Goals 2012-2013 On motion by Ms. Germano, seconded by Ms. Bavlnka, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

ITEMS FOR BOARD ACTION

Declaration of Surplus Equipment Upon the recommendation of the Superintendent of Schools, be it resolved that the items listed below be declared surplus and disposed of in the best interest of the Three Village Central School District:

Item Description	Model	Serial #	<u>Three</u>	Condition
Paper Shredder	3550X	SH 08666H	<u>Village #</u> 20083011	Poor
Overhead Projectors	List on file in	Business Office		

On motion by Mr. Connors, seconded by Ms. Mendelson, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Personnel Action

– Continuation of
Health Insurance

This item was tabled.

Personnel Matters

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL TEACHING ASSISTANT POSITIONS

Teachers:

Natasha Soundias

Fingerprint clearance has been received

Melissa Horn

Ms. Horn worked in our ESY Program during the summer of 2012.

Fingerprint clearance is on file.

Jennie Biamonte

Ms. Biamonte is the daughter of Eileen Biamonte, a teacher a Setauket Elementary School. Fingerprint clearance has been received.

Vita Guadagno

Ms. Guadagno was previously a substitute teacher during the 2009-2010 school year. Fingerprint clearance is on file.

Teaching Assistants:

Judith Fitzsimons

Ms. Fitzsimons is currently working in the district as a substitute teacher and fingerprint clearance is on file.

APPOINTMENTS OF WINTER COACH POSITIONS

Name	Building	Assignment	Effective	Stipend	Status
Black, John	Murphy	Boys Basketball 7/8	Early Winter	\$4,079.00	In District
Burke, Laurie	WMHS	Asst. Varsity Girls Track	Winter	\$8,439.00	In District
Caggiano, Lauren	WMHS	Varsity Girls Basketball	Winter	\$7,213.00	Out of District
Calandra, Robert	Murphy	Wrestling 7/8	Late Winter	\$3,831.00	In District
Chacon, Enrico	Gelinas	Boys Volleyball 7/8	Late Winter	\$4,079.00	In District
DeSario, Bill	WMHS	Asst Varsity Wrestling	Winter	\$7,447.00	Out of District
Doino, Peggy	Murphy	Boys Volleyball 7/8	Late Winter	\$3,831.00	Out of District

Minutes of November 13, 2012

Fernandes, Charles	Murphy	Girls Volleyball 7/8	Early Winter	\$4,079.00	In District
Ferraro, Kurt	WMHS	Varsity Wrestling	Winter	\$8,439.99	In District
Frey, Matthew	Murphy	Wrestling 7/8	Late Winter	\$3,956.00	Out of District
Frey, Matthew	WMHS	JV Wrestling	Winter	\$7,447.00	Out of District
Geoninatti, Emiliano	Murphy	Girls Basketball 7/8	Late Winter	\$3,956.00	In District
Gordon, Chris	WMHS	Varsity Boys Swimming	Winter	\$8,439.00	Out of District
Green, Gil	WMHS	Asst. Varsity Boys Basketball	Winter	\$7,679.00	Out of District
Grippa, Chris	Gelinas	Boys Basketball 7/8	Early Winter	\$4,079.00	In District
McNamara, Brendan	Gelinas	Wrestling 7/8	Late Winter	\$3,831.00	In District
Navetta, Britni	WMHS	Ass. Varsity Boys Swimming	Winter	\$7,679.00	Out of District
Ostapaow, Amanda	Gelinas	Girls Volleyball 7/8	Early Winter	\$3,831.00	Out of District
Pelosi, Andrew	Gelinas	Girls Basketball 7/8	Late Winter	\$4,079.00	In District
Piccirillo, Alex	WMHS	JV Boys Basketball	Winter	\$7,679.00	Out of District
Salmon, Jeff	WMHS	Varsity Boys Fencing	Winter	\$8,439.00	Out of District
Salmon, Jennie	WMHS	Varsity Girls Fencing	Winter	\$8,439.00	Out of District
Smith, Jesse	WMHS	Varsity Boys Basketball	Winter	\$8,439.00	In District
Schoen, Brian	WMHS	Asst Varsity Boys Winter	Winter	As Per	In District
		Track		Contract	
Youngs, Tom	WMHS	Varsity Girls Track	Winter	\$7,213.00	In District
Williams, Louise	WMHS	Asst Girls Basketball	Winter	\$7,213.00	In District
Vessichio, Jerry	WMHS	Varsity Boys Winter Track	Winter	As Per	Out of District
				Contract	
Schnitzer, Aliana	WMHS	Girls JV Basketball Head Coach	Winter	\$7,213.00	In District

APPOINTMENTS TO CO-CURRICULAR SPONSORS

Co-Curricular Clubs

Last Name	<u>First</u> Name		ilding	<u>Activity</u>	<u>Effecti</u>	<u>ve</u>	<u>Rate</u>	Not to Exceed
Becker	Chris	stine Mi	nnesauke	Art Club	10/12/2 6/13/20		\$1,385	\$1,385
	APP	OINTME	NTS OF HO	OURLY EXT	ΓRA ASS	IGNM	ENTS	
Last Name	First Name	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed	Budget Code
Saturday Enrich	<u>iment</u>							
Calvarese	Christina	Murphy	Spanish	2012- 2013	\$25/		\$800.00	T2110150 0T93M
Conlon	Toni	Murphy	Zumba Healthy Cooking For Kids	2012-	hr \$35/ hr		\$1,120.00	
Connors	Jessica	Murphy	Assistant	2012- 2013	\$15/ hr		\$750.00	T2110160 0T93M
Cuomo	Johnny	Murphy	Loving Lionni/Play The Penny Whistle	2012- 2013	\$50/ hr		\$1,350.00	
Cuomo	Kristin	Murphy	Eco- Art/Card Making Fun	2012- 2013	\$25/ hr		\$800.00	T2110150 0T93M
DiPrimo	Brigit	Murphy	Dynamic Dinosaurs/ Matter Of Fact	2012- 2013	\$30/ hr		\$960.00	T2110150 0T93M
Ferretti	Christine	Murphy	Nurse	2012- 2013	\$25/ hr		\$800.00	T2110160 0T93M
Gitter	Marilyn	Murphy	Creative Writing	2012- 2013	\$25/ hr		\$800.00	T2110150 0T93M
Hall	Maureen	Murphy	Card Making/Scra	2012-	\$35/ hr		\$1,120.00	
Hammer	Brian	Murphy	pbooking Assistant	2012- 2013	\$15/ hr		\$750.00	T2110160 0T93M
Hammer	Kevin	Murphy	Assistant	2013 2012- 2013	\$15/ hr		\$750.00	T2110160 0T93M
Hammer	Veronica	Murphy	Assistant	2013 2012- 2013	\$25/ hr		\$100.00	T2110160 0T93M
Kain	Bonnie	Murphy	Assistant	2012-	\$15/		\$750.00	T2110160
Lagville- Graham	Jocelyn	Murphy	Warm & Wonderful Winter Delights	2013 2012- 2013	hr \$30/ hr		\$1,080.00	0T93M T2110150 0T93M
Levensen	Melissa	Murphy	Assistant	2012-	\$15/		\$750.00	T2110160
Levensen	Jamie	Murphy	Assistant	2013 2012- 2013	hr \$15/		\$750.00	0T93M T2110160
Long	Anne	Murphy	Nurse	2013 2012-	hr \$25/		\$800.00	0T93M T2110160
Malone	Marie Lauren	Murphy	Book Making/ Cartooning	2013 2012- 2013	hr \$25/ hr		\$800.00	0T93M T2110150 0T93M

Massi	Kim	Murphy	Multi-media Arts & Crafts	2012- 2013	\$35/ hr		\$1,120.00	T2110150 0T93M
Matzelle	Denise	Murphy	Assistant	2012- 2013	\$35/ hr		\$1,575.00	T2110160 0T93M
Mintz	Barbara	Murphy	Sweet Tooth	2012- 2013	\$45/ hr		\$1,620.00	T2110150 0T93M
Novetti	Jason	Murphy	Assistant	2012- 2013	\$15/ hr		\$750.00	T2110160 0T93M
Novetti	Laura	Murphy	Assistant	2012-	\$15/		\$750.00	T2110160
Novetti	Michelle	Murphy	Assistant	2013 2012-	hr \$15/		\$750.00	0T93M T2110160
Reo	Scott	Murphy	Anime Cartooning/ Clay	2013 2012- 2013	hr \$25/ hr		\$800.00	0T93M T2110150 0T93M
Rosen	Amy	Murphy	Characters Origami	2012-	\$30/		\$960.00	T2110150
Rothbard	Darcy	Murphy	Introductory Japanese	2013 2012- 2013	hr \$25/ hr		\$800.00	0T93M T2110150 0T93M
Home Tutor	ing							
Noe	Melissa	Minne-	Home	10/17,18,	\$ 44.26/	6 hrs	\$265.56	A2330-
Noe	Wienssa	sauke	Tutoring	19, 22 & 23	hr	Oms	φ203.30	1502-22- 41
Sterne	Ira	WMHS	Home Tutoring	9/11 & 25 - 10/2 & 10/9	\$ 44.26/ hr	8 hrs	\$354.08	A2330- 1502-22- 41
Sterne	Ira	WMHS	Home Tutoring	9/19 & 9/26	\$ 44.26/ hr	4 hrs	\$177.04	A2330- 1502-22- 41
Tursi	Jennifer	WHMS	Home Tutoring	9/19 & 28 - 10/3	\$ 44. /hr	3 hrs	\$132.78	A2330- 1502-22- 41
Co-Curricular,	Chaperoning	g & Supervisi	<u>ion</u>					
Music								
Hayes	Dan	Mount	Accompanist for Mount Winter	12/17/ 2012	\$150.00	1 hr	\$150.00	A2110- 1502-11- 07
Hayes	Dan	Mount	Concert 3 - Rehearsals for Concert	12/5, 12/10, 12/13/ 2012	\$ 39.64/ hr	6 hrs	\$237.84	A2110- 1502-11- 07
Wiederman	Richard	Setauket	Chaperoning @ Young Composer's Concert	6/23/ 2013	\$ 39.64/ hr	3.5 hrs	\$138.74	A2110- 1502-11- 07
Lisanti- Levy	Geri	Setauket	Concert Composer's Concert	6/23/ 2013	\$ 39.64/ hr	3.5 hrs	\$138.74	A2110- 1502-11- 07
Woodruff	Leia	Minne- sauke	Celebrating Girls Club	3/13/ 2013- 6/13/ 2013	\$ 39.64/ hr	22.5 hrs	\$445.95	A2850- 1502-02- 21
Bernardo	Kristen	Minne- sauke	Celebrating Girls Club	3/13/ 2013- 6/13/	\$ 39.64/ hr	22.5 hrs	\$445.95	A2850- 1502-02- 21
Salvato	Lori	Gelinas	Chaperone	2013 2012-	\$ 39.64/ hr		\$500.00	A2850150
Hanscom	Stanley	Gelinas	Chaperone	2013 2012-	\$ 39.64/		\$500.00	20724 A2850150
McAuliffe	Brian	WMHS	Supervision	2013 2012-	hr \$ 39.64/	Up to 10/	**	20724 A2110150
			& Chaperoning of School Events	2013	hr	month		20924
Amato	Cristina	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Cisar- Buhler	Laura	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Cereola	Vincent	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924

Cowan	Kerry	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Dilorio	Jessica	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Eaton	David	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Etheridge	Terri	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Favre	Maria	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Gandt	Deborah	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Kelso	Liz	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Kunkel	Christine	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Murolo	Jackie	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Oatis	Jeremy	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Rochford	Lisa	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Smith	Jesse	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Swain	James	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Thomas	Jen	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Cisar- Buhler	Laura	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Taliercio	Kim	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Wassle	Kath- erine	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Tursi	Jen	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924

Bergson	Linda	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Anziano	Erin	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64 /hr	Up to 10/ month	**	A2110150 20924
Chiappino	Darlene	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Diehl	John	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Dinkel	Allison	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Levensen	Steve	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
LoGuidice	Kerry	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Mirabella	Christine	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Olsen	Walter	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Ross (for KL)	Lori	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Sheppard	Jennifer	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Sheridan	James	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Chesney- Gold	Alyssa	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Schnupp	Jeannie	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Vonnes	Carol	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Domino	Emma	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Beauchamp	Tracy	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Andrusz- kiewicz	John	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924

Bischoff	Lisa	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Boltrek	Chris	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Buckland	Michael	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Cameron	Kimb- erly	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Conklin	Daniel	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Esser	Ken	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Kane	Allison	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Kraemer	Dianne	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Lapp	William	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A2110150 20924
Melnick	Kristen	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Miller	Bryan	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Riggio	Clarice	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Rosequist	Michael	WMHS	Supervision & Chaperoning	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Sterne			of School Events			monui		
	Ira	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/month	**	A21101502 0924
Stringer	Ira Megan	WMHS WMHS	Events Supervision & Chaperoning of School Events Supervision & Chaperoning of School			Up to 10/	**	
Stringer Van Zantdt			Events Supervision & Chaperoning of School Events Supervision & Chaperoning of School Events Supervision & Chaperoning of School	2013	hr \$ 39.64/	Up to 10/month Up to 10/		0924 A21101502
J	Megan Geor-	WMHS	Events Supervision & Chaperoning of School Events Supervision & Chaperoning of School Events Supervision & Chaperoning	2013 2012- 2013 2012-	\$ 39.64/ hr	Up to 10/ month Up to 10/ month Up to 10/ month	**	0924 A21101502 0924 A21101502

Ambrose	Donald	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Campa- gnola	Aimee	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Campau	Andrea	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Canestro	Andrea	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Dillon	Christine	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Dunbar	Kristin	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Fischer	Andrea	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Fyfe	Matthew	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
O'Brien	Pamela	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Petruzzi	Jeanne	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Prochilo	Kristin	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Robertston	Barbara	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Schwartz	Ellen	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Taborsky	Cheryl	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Tam	Aaron	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Tamadon	Arta	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Terebetski	Mary Beth	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Whitman	Juliann	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924

Contino	Linda	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Benson	Kristin	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Deutsch	Daniel	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Gelfer	Phil	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Gustavsen	Laura	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Portugal	Mark	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Stiegel- maier	Laura	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Kula	Marnie	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Baldo	George	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Brendel	Paul	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Cadolino	Angelo	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Chereb	Saman- tha	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Corleto	Jennifer	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Dornicik	James	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Hannifin	Danielle	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Harding	Keith	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Jourdain	Eric	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Kettler	Todd	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924

Malusa	Stephen	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Medina	Phil	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
McGunn- igle	Thomas	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Michel	Silva	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Murphy	Chris- topher	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Sandolo	John	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Schoen	Brian	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Smith	William	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Spira	Robert	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Steigert	Jackie	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Sussin	Erick	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Visconti	Jennifer	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Weiner	Claudine	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Williams	Laura	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Trettner	Jennifer	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
DiLorenzo	Stefanie	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Dietz	Kristen	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Furjanic (for LOA)	Greg	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924

Mullany	Jennifer	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Swierupski	James	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Weisman	Cortney	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Rogers	Steven	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Suesser	Mark	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Williams	John	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Hatcher	April	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Brecht	Liz	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Aweh	Michelle	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Cusumano	Amy	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
			Evente					
Hayes	Tom	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Hayes	Tom Kevin	WMHS	Supervision & Chaperoning of School Events Supervision & Chaperoning of School			10/	**	
·			Supervision & Chaperoning of School Events Supervision & Chaperoning of School Events Supervision & Chaperoning of School	2013	hr \$ 39.64/	10/ month Up to 10/		0924 A21101502
Jones	Kevin	WMHS	Supervision & Chaperoning of School Events Supervision & Chaperoning of School	2012- 2013 2012- 2013	hr \$ 39.64/ hr \$ 39.64/	10/ month Up to 10/ month Up to 10/	**	0924 A21101502 0924 A21101502
Jones Martin	Kevin Marvel	WMHS WMHS	Supervision & Chaperoning of School Events Supervision & Chaperoning of School	2012- 2013 2012- 2013 2012- 2012-	\$ 39.64/ hr \$ 39.64/ hr	Up to 10/month Up to 10/month Up to 10/month	**	A21101502 0924 A21101502 0924 A21101502
Jones Martin McCoy	Kevin Marvel Margaret	WMHS WMHS	Supervision & Chaperoning of School Events Supervision & Chaperoning of School	2012- 2013 2012- 2013 2012- 2013 2012- 2012-	\$ 39.64/ hr \$ 39.64/ hr \$ 39.64/	Up to 10/month Up to 10/month Up to 10/month Up to 10/month Up to 10/month	**	A21101502 0924 A21101502 0924 A21101502 0924 A21101502
Jones Martin McCoy Muller	Kevin Marvel Margaret Gisela	WMHS WMHS	Supervision & Chaperoning of School Events Supervision & Chaperoning	2012- 2013 2012- 2013 2012- 2013 2012- 2013	\$ 39.64/ hr \$ 39.64/ hr \$ 39.64/ hr \$ 39.64/	Up to 10/month Up to 10/month Up to 10/month Up to 10/month Up to 10/month	**	A21101502 0924 A21101502 0924 A21101502 0924 A21101502 0924 A21101502

McNair	Michelle	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Rippe	Claudia	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Spoering (for LOA)	Sarah	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Ekelund	Michelle	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Ransford	Melissa	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Preston	Kim	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Brussee	Erin	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Kost	Maureen	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Barrett	Linda	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Chapman	Craig	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Anderson	Phoebe	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Ferraro	Kurt	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Heck	Jeff	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Hoppey	Michael	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Loddigs	Scott	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Negus	Jay	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Watson	Shannon	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Sementilli	Angela	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924

Blumenthal	Teri	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Moran	Kathryn	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64 /hr	Up to 10/ month	**	A21101502 0924
Lydon	Joyce	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Mayernik	Suzanne	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Lynch	Mary Beth	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Salas	Heather	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Gregory	Glenda	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Virga	Michelle	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Fore	Patricia	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Beach	Christina	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Clare	Patricia	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Edgar	Ginny	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Ely	Jeff	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Flynn	Maureen	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
McCaffrey	Virginia	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Polak	Jason	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Ray- Argandona	Pamela	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Ritchie	Stacie	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924

Forese	Liz	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Pascarella	Diane	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Jimenez	Kather- ine	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Morrison	Kimb- erly	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Zeidman	Stacey	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Corbett	Janine	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Pelkofsty	Janine	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Baumann	Matthew	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Florio	Christina	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Nickerson	Carol	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Perrino	Craig	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Coonerty	Mary	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Metcalf	Marilyn	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Mintz	Barbara	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Muldoon	Donald	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Quitoni	Loren	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Dennington	Warren	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Brous	Gen	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924

Busse	Karen	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Conrad	Chelsea	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/month	**	A21101502 0924
Contino	Jennifer	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Damsky	Kara	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
DeRosa	Tori	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Faraci	Maria	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Gaddis	Luke	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Goldberg	Annette	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Hurley	Terri	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Kowalenko	Randi	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Lamonica	Mary Ann	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
LeMaster	Denise	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Malone	Laura	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Markey	Dorothy	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Monte- morano	Marisol	WMHS	Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Pryor	Lisa	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Reinhardt	Robin	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Rupe	Alison	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924

Schreiber Cross	Stacey	WMHS	Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Wegenaar	Nancy	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
Williaims	Louise	WMHS	Events Supervision & Chaperoning of School	2012- 2013	\$39.64 /hr	Up to 10/ month	**	A21101502 0924
Dion	Jean- Pierre	WMHS	Events Supervision & Chaperoning of School Events	2012- 2013	\$ 39.64/ hr	Up to 10/ month	**	A21101502 0924
** Not to exce	ed \$ 18,000							
Brocking	ŢĴ	Murphy	1:1 student supervision before or after school co-curricular activities (clubs, chorus,	10/2012 - 6/28/ 2013	\$19.00	up to 10 hr/ month		
Primavera	Laura	Murphy	plays, etc) 1:1 student supervision before or after school co-curricular activities (clubs, chorus,	9/4/12 - 6/28/ 2013	\$19.00	up to 10 hr/ month		
Towers	Melanie	Murphy	plays, etc) 1:1 student supervision before or after school co-curricular activities (clubs, chorus, plays, etc)	9/4/12 - 6/28/ 2013	\$19.00	up to 10 hr /monti	h	
*** Please note	the above 1:	1 supervisior	for Murphy JHS	is not to exc	ceed \$2,000.	in total		
Anziano	Erin	WMHS	PSAT	10/20/20	\$ 39.64/	4	\$158.56	T2110150
Archer	Erica	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Aweh	Michele	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Baer	Jody	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	4	\$158.56	0T93E T2110150
Barra	Susan	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Bartunek	Alberta	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Bassett	Nell	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$158.56	0T93E T2110150
Bell	Cindy	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Brussee	Erin	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Caruso	Alexis	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Castiglie	Mary	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	6	\$237.84	0T93E T2110150
Chiappino	Darlene	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	4	\$158.56	0T93E T2110150
Cronin	Patricia	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
DeCollibus	Maria	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64	5	\$198.20	0T93E T2110150
Diehl	John	WMHS	Proctoring PSAT	12 10/20/20	/hr \$ 39.64/	5	\$198.20	0T93E T2110150
			Proctoring	12	hr	5		0T93E
Domino	Emma	WMHS	PSAT Proctoring	10/20/20 12	\$ 39.64/ hr		\$198.20	T2110150 0T93E
Dunbar	Kristin	WMHS	PSAT Proctoring	10/20/20	\$ 39.64/ hr	6	\$237.84	T2110150 0T93E
Dwyer	Alexan- der	WMHS	PSAT Proctoring	10/20/20	\$ 39.64/ hr	5	\$198.20	T2110150 0T93E
Faraci	Maria	WMHS	PSAT	10/20/20	\$ 39.64/	5	\$198.20	T2110150
Flynn	Maureen	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	13	\$515.32	0T93E T2110150

Gandt	Deborah	WMHS	PSAT Proctoring	10/20/20 12	\$ 39.64/ hr	5	\$198.20	T2110150 0T93E
Goldberg	Annette	WMHS	PSAT	10/20/20 12	\$ 39.64/ hr	5	\$198.20	T2110150 0T93E
Gould	Patricia	WMHS	Proctoring PSAT Proctoring	10/20/20 12	\$ 39.64/ hr	5	\$198.20	T2110150 0T93E
Governale	Christine	NC	PSAT	10/20/20	\$ 39.64/	5	\$198.20	T2110150
Hammer	Veronica	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Lawlor	Andrea	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	6	\$237.84	0T93E T2110150
Malone	Laura	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Markey	Dorothy	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	6	\$237.84	0T93E T2110150
Melfi	Linda	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Metcalf	Marilyn	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	6	\$237.84	0T93E T2110150
Mintz	Barbara	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	6	\$237.84	0T93E T2110150
Mirabella	Christine	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	6	\$237.84	0T93E T2110150
Muller	Gisela	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
			Proctoring	12	hr			0T93E
Murphy	Chris	WMHS	PSAT Proctoring	10/20/20 12	\$ 39.64/ hr	5	\$198.20	T2110150 0T93E
Perniciaro	Barbara	WMHS	PSAT Proctoring	10/20/20 12	\$ 39.64/ hr	4	\$158.56	T2110150 0T93E
Reinhardt	Robin	WMHS	PSAT Proctoring	10/20/20 12	\$ 39.64/ hr	5	\$198.20	T2110150 0T93E
Ross	Lori	WMHS	PSAT Proctoring	10/20/20 12	\$ 39.64/ hr	5	\$198.20	T2110150 0T93E
Santino- Cameron	Kim	WMHS	PSAT Proctoring	10/20/20 12	\$ 39.64/ hr	6	\$237.84	T2110150 0T93E
Sementilli	Angela	WMHS	PSAT Proctoring	10/20/20 12	\$ 39.64/ hr	4	\$158.56	T2110150 0T93E
Sheppard	Jen	WMHS	PSAT	10/20/20 12	\$ 39.64/ hr	5	\$198.20	T2110150 0T93E
Sirota	Terry	WMHS	Proctoring PSAT	10/20/20	\$ 39.64/	5	\$198.20	T2110150
Spira	Robert	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Swierupski	Jim	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	4	\$158.56	0T93E T2110150
Townsend	Ginny	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Ventura	Helen	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	13	\$515.32	0T93E T2110150
Voigt	Felicia	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Vonnes	Carol	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Walsh	Patricia	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	13	\$515.32	0T93E T2110150
Wegenaar	Nancy	WMHS	Proctoring PSAT	12 10/20/20	hr \$ 39.64/	5	\$198.20	0T93E T2110150
Wegenaar	runcy	***************************************	Proctoring	12	hr	5	Ψ170.20	0T93E
In-Service C	<u>Course</u>							
Lamiroult	Brenda	Nassa- keag	Pathways to Common Core - Book Discussion	11/13/ 2012	\$ 69.05/hr	15	\$1,035.75	A2110150 21959
Ennis	Jessica	Murphy	Gp Guidance Four Year Plans	11/14/ 2012	\$ 23.26/hr		\$1,500.00	A2110150 21959
AIS Services	<u>s</u>							
Zeidman	Stacey	WMHS	Out of District IEPs - In order to maintain CSE/IEP compliances as per state mandates.	2012- 2013	51.40/hr		\$1,500.00	0032-13- 0878 (F2250- 150-13- 032-0878)

APPOINTMENTS OF SUMMER ASSIGNMENTS

PBIS Committee

<u>Last Name</u>	<u>First</u> Name	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed
Guez	Richard	Setauket	PBIS Committee	Summer 2012	\$ 44.44/Hr	6 Hours	\$266.64
Lambert	Michelle	Setauket	PBIS Committee	Summer 2012	\$ 44.44/Hr	6 Hours	\$266.64
Mcgrath	Alyson	Setauket	PBIS Committee	Summer 2012	\$ 44.44/Hr	6 Hours	\$266.64
Negus	Amanda	Setauket	PBIS Committee	Summer 2012	\$ 44.44/Hr	6 Hours	\$266.64
Sierzputowski	Jennifer	Setauket	PBIS Committee	Summer 2012	\$ 44.44/Hr	6 Hours	\$266.64

This is a change from the 10/23 Board Meeting. These employees were originally approved for 3 hours, but it has been changed to 6 hours.

On motion by Mr. Kornreich, seconded by Ms. Mendelson, and carried by a 6-0-0 vote the Board approved the resolution as presented.

Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

Monitors/Special Education Aides

Barbier, Stacey Special Education Aide (6.0 hours/day)

Minnesauke Elementary School

Replacing: Jenny Toto

Related to current employee: No Salary: \$14.49/hr (Step 6/ Level 11)

Annual Stipend: \$700

Effective: November 14, 2012

Ms. Barbier is currently a substitute monitor/Special Education Aide in the district. She was a monitor at Setauket Elementary last year. That position was excessed effective 7/1/12. Fingerprinting clearance has been received and is on file.

Ferreira, Nancy Special Education Aide (6.0 hours/day)

Arrowhead Elementary School

Replacing: Joanne Gioffre (reassigned) Related to current employee: No Salary: \$13.59/hr (Step 1/ Level 11)

Annual Stipend: \$700

Effective: November 14, 2012

Ms. Ferreira is currently a substitute monitor/Special Education Aide in the district. Fingerprinting clearance has been received and is on file.

Iaccino, Patricia Special Education Aide (6.0 hours/day)

Arrowhead Elementary School

New Position

Related to current employee: Yes Salary: \$13.59/hr (Step 1/ Level 11)

Annual Stipend: \$700 Effective: November 14, 2012

Ms. Iaccino is currently a substitute monitor/Special Education Aide in the district. She is the sister-in-law of Jennifer Stolfi, a teacher at Arrowhead Elementary. Fingerprinting clearance has been received and is on file.

School-Aged Child Care (SACC)

Cambria, Stacy Special Education Aide (max 10 hrs/week)

Setauket Elementary School

New Position

Related to current employee: No

Salary - \$14.37 hourly

Effective – November 14, 2012

Minutes of November 13, 2012

Ms. Cambria is currently a Special Education Aide at Setauket Elementary. Fingerprinting clearance has been received and is on file.

CHANGE OF STATUS - NON-INSTRUCTIONAL STAFF

Clerical

Singer, Lisa From: Clerk Typist (Step 9/Level 1)

Mount Elementary School

Main Office

To: Senior Clerk Typist (Step 9/Level 3) Office of Pupil Personnel Services Replacing: Diana DeAngelis Annual Salary: \$47,821 (prorated) Effective: November 19, 2012

APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Clerical

Fitzsimons, Judith Salary-\$11.42/hr. Effective-11/14/12

Ms. Fitzsimons is currently a substitute teacher in the district. Fingerprinting clearance has been received and is on file.

Monitor/Special Education Aide

Wolcott, Jonathan Salary-\$11.42/hr.

Effective-11/14/12

Mr. Wolcott is the son of Valerie Wolcott, a Teaching Assistant at Arrowhead Elementary and the brother of Samantha Wolcott, a substitute monitor/Special Education Aide in the district. Fingerprinting clearance has been received and is on file.

APPOINTMENT OF HOURLY EXTRA ASSIGNMENT

Last	First	Building	Assignment	Effective	Rate	Hours	Not to
<u>Name</u>	Name						Exceed
Pollina	Jackie	MUR	1:1 student	10/2012-	reg. hrly	****	up to 10
			supervision	6/28/2013	rate		hrs/month
			before or after				
			school co-				
			curricular				
			activities (clubs,				
			chorus, plays,				
			etc)				

AMENDMENT/REVISION

Monitor/Special Education Aide

Freund, Maria Status: Special Education Aide

Amendment/Revision: Effective date Date of BOE Approval: October 23, 2012

Ms. Freund's effective date has been revised to October 29, 2012

On motion by Mr. Connors, seconded by Ms. Mendelson, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education Meetings of: September 12, 13, 19, 21, 25, 28, October 3, 4, 5, 9, 10, 12, 15, 16, 17, 18, 22, 23 and 24, 2012

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Ms. Mendelson, seconded by Ms. Germano, and carried by a 6-0-0 vote the Board approved the resolution as presented.

Recommendations of Committee on Preschool Special Education Meetings of: October 17 and 23, 2012.

Stipulation

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Ms. Mendelson, seconded by Ms. Germano, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education accepts the Stipulation between the Three Village Central School District and the United Public Service Employees and Three Village Clerical Unit, and authorizes the Board President and the Superintendent of Schools to execute the Agreement.

On motion by Mr. Kornreich, seconded by Ms. Germano, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

OTHER ITEMS OF INTEREST Ms. Bavlnka reported on the High School to College Bridge Program, the Living Book Program, and several upcoming events.

Dr. Kerman reported on various recent sports team victories and congratulated the athletes involved.

PUBLIC PARTICIPATION There was no public participation at this time.

ADJOURNMENT There being no further business to be conducted, motion was made by Mr. Connors, seconded by Ms. Mendelson and carried by a 6-0-0 vote to adjourn the meeting at 8:30 pm.

Respectfully submitted,

Kathleen Sampogna District Clerk